
 

  FORM PA-2033 Rév. 6.0 

 

An operator was driving a forklift from the loading yard when a second operator indicated to the first operator to follow him to the silos. To do 

so, the first operator moved backward to an empty area on the side, waited until the second operator passed and move forward to follow. 

After driving about 2 meters, the first operator hit a post with his forklift. The first operator was wearing a seat belt, but the sudden hit made 

his head move forward and his chin hit against the handle of the driving wheel and was cut.

 Forklift moved into area where post was a hazard. Purpose of post is unclear
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